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Space for
No. Question worlking if
required
i | Write down the next two terms of the sequence:
97, 93, 89, ,
2 | Work out, giving your answer in standard form.
(3.8 x 1073) x (4 x 1079 o
Answer: ___
3 | Simplify, giving your answer as a single number in index
form:
310‘
3537
Answer:
4 | Solve the equation:
3y -4 =32
Answer:
5 | Evaluate: 252 - 157
Answer:
& | Fillin:
2.6 x 107 = million
7 | Which of the following are two factors of 546:
A. 4and7
B. 3and 7
€. 3and 12
8. 4and 13
Answer
& | Decrease €92 by 10%.
Answer:
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9 | Write the coordinates of the point where the line
v = -Sl-x - 2 cuts the y-axis,
Answer:
1D | Write a simplified expression in terms of x, for the area of
this trapezium.
2x+1
i
P x \
’ \
i
0
Ay +3
Answer:
L1 | Suggest possible values for x and v such that:
a*xa¥=1
Answerix =____ andy=
12 | Find the value of Tan x.
Answer:
12 | The table below shbws the amount of monay earnad by 20

workmen in December.

. Amounton Euro | Frequency -
0< A4 <500 3
500 < A < 1000 4
1000 < A < 1500 7
1500 < A < 2000 6

Which one of the following statements is correct given the
above information?

A. Three workmen earned less than €500.
B. Four workmen earned £800.

C. Thirteen workmen earned £1000 or more,
D. Fourteen workmen earned £1500 or less.

Answer:
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14 | Change 1.2 m3 to cm?®.
Answer:
15 | Find the value of x, given that:
xo L
243
Answer:
18 | Work out the value of Sin a.
/
i/ 5com *
VAR
/ a
6 cm Answer:
17 | Find the value of:
{28 x 2) + (28 x 98)
Answer:
18 | Find the value of a and b, such that:
(x+4)=x*+ax+b
Answer: g = and b =
19 | The n* term of a sequence is 7n + 2.
Which of the following statements is false?
A, The first term is 9.
B. The 9% term of the sequence is 65,
€. The rule between terms is “multiply by 7”.
D. 37 is aterm of t’ng seguence.
Answer:
20 | The surface area of a cube is 96 cm?,

Find the length of the side of the cube.

Ansyier:
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